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MpakTuyeckas pabora B Exsel

MocTpoenue rpacmka dyHkumm Y=F(X)
Ha uHTepsane [A;B] ¢ warom H

BapuaHT F(X A | B H
1 ABS(X-1)+0,5 | -5 [ 15| 1
2 X22-3*X+5,3 2 | 8|05
3 XA3-2*X+0,85 B 1581502
4 ABS(X-1)+05 | -4 | 6 1
5 10/(X-5)+1,5 10 | 12| 0,2
6 1/ABS(12-X) 5 [10] 0,5
i -5*X+10,25 0 310,25
8 (XA2+1)/X+3 2 | 4511
9 ABS(X-1)+0,5 | -4 | 2 | 05
10 5*X"2-3*X+1 -10| 0 i
11 -2 XA2-*X+1 81211905
12 (X+1)"2+0,5 3 (12] 1
13 ABS(1-Xy+1/X | 1 | 5 | 0,3
14 2*(X-5)"0,5-3 b5 i25]] 12
15 3*COS(X/2) 15 1 20| 0,5
16 -0,5*SIN2*X)+1| 0 [6,3]| 0,5
17 3*COS(X/21 |-32|32| 04
18 0,5*COS(X/2) |-6,5| 0 | 0,5
19 -2*COS(X/3) [-31]63] 1

20 1-COS(X/2) 31(63| 04





